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What Is the Advantage of Buying

a Magnetic Bulletin Board?
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Solve each equaticn and find your solution below. Cross out the box containing
that solution. When you finish, write the letters from the remaining boxes in the

spaces at the bottomn of the page.

) 3x-a)=8x+2 X=71

@ sn+3)=7n—-3 N="\S

() 2(10-6x)=x—8x K=

(@) 5a+4(3a—-8)=4+13a o=
(B y+18=12-6(y+7) ruoLo
() x—(5-3x)=7x+4 Xz
@) 8m-5)=2(3m-8) "N=\1-
(®) -4(3-6d)=9(2d —2) Az

@) 7(10-3w) =5(15— 4w) 5= O wWy=-5
@ 6t + 3(5t — 4) = 12(2t — 5) y A K

@ 200x—1)=99-73-4x) X="03

(2 6(5k—8)—20=11(2k—3) +3k Y=\

@ =Xx— (13 +4x)=-3(5-9x) +2 ey
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Ltva(5t-41)=12(2L-5)

LExist-12 =246-60O

2\ =10 = ZNE€-60

4% =BE

/6 =4
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20Qx-1) =qa-(3 -4x )

|8x-2 =9gq-2\%28x

18x -2 =718 ¥2%¥x

=50 = DK
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L(5H—8) 20 = W(ZW-3) ¥DK

20K -48-20 = 22K -2 ¥Bd WK

0K-L¥ =2SH-33

S h =55
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—x — (1B = —2A(S -a)FL

O=3)x
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X2 -UX =S ¥ 2R YL

O =x

“\5-Sx =-13 v X
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@ \ 2SN ®xrl  2)4(d) = n->

[Sx-1L=&x+7 Ana ==
1x =19 ' 30 =-7Zn
X =7 , T E N
_ A200-6x0) =88 Y) S al(Ra-%) —y+13o
70 - \2x ==X _Soxla -32 =4+RBa
720 = SX __1Ma =22 = Y493q
4 = X | =36 = —Yq
f : o,
@ 5/\ 2ur 182 12-Clu1) G Y - (5-2x) = TTxth
_ T e 19t X-S xBx_=IAxY
2048 =-64=20  -S xNx =Txib
U?’Ld“f"ngJ WA 9 =3
3 {op i =g . | ol Rl
J ‘ .
)] 8ln-s)=2(dm-8) _ §)-4(Z6d)=A(24-2)
Bon-40 =lm -1k =\ 243 =\8A ~\§
Zm =74 . | Ca=6

m-=\7 | . EN




